
 

  

 

 

 

 

 

                                                                                                                

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

10. XII 
X(𝑭𝒆𝟐+ + 𝟐𝑪𝒍−) 

11. 

𝑭𝒆  +    𝟐𝑯+                                      𝑯𝟐   +   𝑭𝒆𝟐+ 

 التمرين الثاني : ★



 
1  
2 

3 

4 

5 

 
6  
7 

 
1. III

𝑭𝒆(𝑶𝑯)𝟑 
2. 𝑶𝑯−. 

3. III𝑭𝒆𝟑+ 
4.  

𝑭𝒆𝟑+    +      𝟑𝑶𝑯−                                    𝑭𝒆(𝑶𝑯)𝟑 

5. 

 

6. 𝑨𝒈+ 

𝑪𝒍− 

7.  III 

(𝑭𝒆𝟑+ + 𝟑𝑪𝒍−) 

 : التمرين الثالث ★



II(𝑭𝒆𝟐+ + 𝟐𝑪𝒍−)

1 
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  التمرين الأول : ★

pH
 𝑺𝟏 𝑺𝟐 𝑺𝟑 𝑺𝟒 𝑺𝟓 

pH 12.6 3.5 7.00 5.4 1.8 

      

1. pH
2. 

3.  
4.  
5. 𝑺𝟏 
6. pH 

X
 

7. 

8. 

9. 

10. X 
11.  

1.  pH pH – pH 

 
2.  
3. 𝑺𝟓 

 𝑺𝟒

4. 𝑺𝟓𝑺𝟐𝑺𝟒.

pH

 
5. 𝑺𝟏

 
6. pH𝑺𝟏

pH 
7. II𝑭𝒆(𝑶𝑯)𝟐 
8. II𝑭𝒆𝟐+ 
9. 𝑪𝒍− 
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1. 

II
 



II𝑭𝒆𝟐+



𝑪𝒍−

 

 : التمرين الرابع ★

pH

 𝑺𝟏 𝑺𝟑 𝑺𝟒 𝑺𝟓 𝑺𝟔 𝑺𝟕 𝑺𝟖 

pH  9.6 3.3 6.2 7.0 8.5 12.2 1.3 

        

1 

2 

3  
4 

X 

5 

6 

Y

7 

8 

9  
Y

10  
11 

12 

13 

14 Y 
15  

 
1.  

2. 𝑺𝟖 

 𝑺𝟒 

 

 

 

3  
 

4 𝑺𝟔𝑺𝟏𝑺𝟕.

pH

 
5 𝑯𝟐 
6 

 
7 𝒁𝒏(𝑶𝑯)𝟐 
8 𝒁𝒏𝟐+ 

9  

𝒁𝒏𝟐+    +      𝟐𝑶𝑯−                                   𝒁𝒏(𝑶𝑯)𝟐 

10 (𝑨𝒈+ + 𝑵𝑶𝟑
−) 

11 𝑨𝒈𝑪𝒍 

12 𝑪𝒍− 

13  

𝑨𝒈+    +      𝑪𝒍−                                         𝑨𝒈𝑪𝒍 

14 X 
X(𝒁𝒏𝟐+ + 𝟐𝑪𝒍−) 

15 

𝒁𝒏  +    𝟐(𝑯+ +  𝑪𝒍−)                  𝑯𝟐   +   (𝒁𝒏𝟐+ + 𝟐𝑪𝒍−) 

 : سالتمرين الخام ★



 
1 ec 
2 Z=13

e 
3  
4  

5  
6  
7 

 
8 

 
9 

 

 

 

X 
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1. 𝑨𝒍𝟑+ 
e  +𝟑𝒆 

+𝟑𝒆 = +𝟑 × 𝟏, 𝟔 × 𝟏𝟎−𝟏𝟗𝑪 = 𝟒, 𝟖 × 𝟏𝟎−𝟏𝟗𝑪 
2. e+𝒁𝒆 = +𝟏𝟑𝒆 

e−𝟏𝟎𝒆

3. 

 
4. 

𝑨𝒍𝟑+    +      𝟑𝑶𝑯−                                         𝑨𝒍(𝑶𝑯)𝟑 

5. 

𝟐𝑨𝒍  +    𝟔(𝑯+ +  𝑪𝒍−)                                         𝟑𝑯𝟐   +   𝟐(𝑨𝒍𝟑+ + 𝟑𝑪𝒍−) 

6.  
(𝑨𝒍𝟑+ + 𝟑𝑪𝒍−) 

7. 𝑪𝒍−. 

8. 𝑨𝒍𝟑+

 
9. 𝑃𝑉𝐶 
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